
次の図形のまわりの長さを求めましょう。

(1) 計算スペース

円周の長さ2
（いろいろな図形のまわりの長さ）

年　  　組　　名前（　　　                　　　　　　　　　） 

式 12×2×3.14÷４＋１２×２
＝3×３．１４＋２４
＝９．４２＋２４
＝３３．２４

答え 33.24ｃｍ

(2) 式 ４×２×3.14÷２＋４×3.14
＝4×3.14＋４×3.14
＝（４＋４）×3.14
＝８×3.14
＝25.12

答え 31.4ｃｍ

答え 25.12ｃｍ

(3) 式 (３＋６＋３）×3.14÷２＋6×
3.14＋3×２
＝６×3.14＋６×3.14＋６
＝（６＋６）×3.14＋６
＝12×3.14＋６
＝37.68＋６＝43.68

答え 43.68ｃｍ

(4) 式 ５×２×3.14
＝１０×3.14
＝31.4

１２ｃｍ

５ｃｍ

４ｃｍ

３ｃｍ３ｃｍ

６ｃｍ

５ｃｍ

５ｃｍ

５ｃｍ
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答え 31.4ｃｍ

答え 43.68ｃｍ

(4) 式 ５×２×3.14
＝１０×3.14
＝31.4

答え 25.12ｃｍ

(3) 式 (３＋６＋３）×3.14÷２＋6×
3.14＋3×２
＝６×3.14＋６×3.14＋６
＝（６＋６）×3.14＋６
＝12×3.14＋６
＝37.68＋６＝43.68

答え 42.84ｃｍ

(2) 式 ４×２×3.14÷２＋４×3.14
＝4×3.14＋４×3.14
＝（４＋４）×3.14
＝８×3.14
＝25.12

円周の長さ2
（いろいろな図形のまわりの長さ）

年　  　組　　名前（　　　 　） 

次の図形のまわりの長さを求めましょう。

(1) 式 12×2×3.14÷４＋１２×２
＝6×３．１４＋２４
＝18.84＋２４
＝42.84

計算スペース

１２ｃｍ

５ｃｍ

４ｃｍ

３ｃｍ３ｃｍ

６ｃｍ

５ｃｍ

５ｃｍ

５ｃｍ
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